DECONOU IATION STATEMENT				
RECONCILIATION STATEMENT				
		30-Jun-20	30-Jun-19	VAR
NET PROFIT /(LOSS) AS PER ACCOUNTS	3	4,008	15,404	(11,396
ADD BACKS				
Distribution from Trusts - tax Loss on Sale of Assets		0	4,931	0
Decrease in market value of shares		14,586	0	
Decrease in market value of other		0	0	0
Total Add Backs		14,586	4,931	(9,655
SUBTRACT				
Exempt Pension Income		10,602	11,616	1,014
Increase in market value of shares		0	8,719	8,719
Member contributions		0	0	0,719
Profit on Sale of Assets		7,992	0	(7,992
Carried forward losses		0	0	0
Total Subtractions		18,594	20,335	(1,741)
Net Difference		(4,008)	(15,404)	(11,396)
TAXABLE INCOME		0	0	0
CGT Loss Carried Forward		75,311	75,311	0
ALLOCATION:				
Earnings - Tax		0	0	0
Contributions				0
John Mirams		0	0	0
Stephanie Mirams		0	0	0
TAXABLE INCOME		0	0	0
TAX PAYABLE BY SUPER FUND				
=======================================				
Tax Payable	15.00%	0.00	0.00	0
Less Tax Paid				
Imputation Credits		1,677.19	1,706.68	
Tax File Number Tax Rounding		0.00	0.00	
TOTAL TAX PAYABLE		(1,677.19)	(1,706.68)	0.00
TOTAL TAX PATABLE		(1,077.19)	=======================================	=========
Members share:	Account -	- len 259		
Contributions	Code	(1418-19)		
John Mirams	1,999.01	0.00	0.00	0
Stephanie Mirams	1,999.02	0.00	0.00	0
		0.00	0.00	0.00
Earnings				
John Mirams	1,998.01	0.00	0.00	0
Stephanie Mirams	1,998.02	0.00	0.00	0
		0.00	0.00	0.00
TOTAL TAX PAYABLE BY FUND		0.00	0.00	0.00

Share of Profits by each beneficiary:		Tax		-
John Mirams	Notes	0.00	0.00	
Stephanie Mirams	Notes	0.00	0.00	
	1			
		0.00	0.00	0.00
Opening Beneficiaries balances	Percentage			
Specific Control of the Control of t	, c. cerninge			
John Mirams	30.97%	135,621.23	150,601.41	(14,980
Stephanie Mirams	69.03%	302,266.75	316,825.86	(14,559
	100.00%	437,887.98	467,427.27	(29,539.29
Summary:				
Beneficiaries Total Tax Payable:				
John Mirams		0.00	0.00	0
Stephanie Mirams		0.00	0.00	0
		0.00	0.00	0.00
ALLOCATION ACCOUNTING				
Earnings		5,887.06	17,301.91	(11,415
Contributions				0
John Mirams Stephanie Mirams		0.00	0	0
Stephanie Milans		0.00	0	0
Expenses:				
All		1,879.00	1,898.00	(19)
Expenses of Beneficiaries John Mirams		0.00		-
Stephanie Mirams		0.00	0	0
Otophanie Wilanie				
TAXABLE INCOME		4,008.06	15,403.91	(11,396)
Gross Distribution to Beneficiaries Accounting				
John Mirams		1,241.36	4,963.02	(3,722)
Stephanie Mirams		2,766.70	10,440.89	(7,674)
		4,008.06	15,403.91	(11,395.85)
Member Pensions Taken				
John Mirams		20,000.00	19,943.20	57
Stephanie Mirams		25,000.00	25,000.00	0
		45,000.00	44,943.20	56.80
Net Distribution to Beneficiaries Accounting				
John Mirams		(18,758.64)	(14,980.18)	(3,778)
Stephanie Mirams		(22,233.30)	(14,559.11)	(7,674)
		(40,991.94)	(29,539.29)	(11,452.65)



Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C > 2 Erith Lane KALORAMA VIC

SELL CONFIRMATION DETAILS

Account No.

6571665

Confirmation No.

10599613

Transaction Date

29/06/2020

As at Date

Settlement Date

01/07/2020

Financial Product

BBOZ

AUSTRALIA 3766

TRADING MANAGED FUND UNITS FULLY PAID

ssuer

BETA AUST STR BEAR

QUANTITY PRIC	BE	CONSIDERATION
1,225	9.2000	\$11,270.00

CONFIRMATION COMMENTS

Order

Complete Order

Comments

Condition

Crossed

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS MRS STEPHANIE VERA MIRAMS <MIRAMS NOMS SUPER FUND A/C> 2 ERITH LANE KALORAMA VIC 3766

1,225	9.2000	\$11,270.00
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
-	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$11,157.58

BASIS OF MOVEMENT

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.





REPRINT

Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS

Account No. 6

6571665

Confirmation No.

10399306

Transaction Date

12/06/2020

As at Date

Settlement Date

16/06/2020

Financial Product

BBOZ

TRADING MANAGED FUND UNITS FULLY PAID

.ssuer

BETA AUST STR BEAR

QUANTITY PRIC	E	CONSIDERATION
2,180	9.2500	\$20,165.00

CONFIRMA	ITION COMMENTS
Order	Complete Order
Comments	The Marie was the transfer and the street of a substitution of a substitution of the s
Condition	
Crossed	

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

2,180	9.2500	\$20,165.00
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$20,052.58

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	10490460		
Transaction Date	18/06/2020		
As at Date			
Settlement Date	22/06/2020		

Financial Product

PNI

ORDINARY FULLY PAID

suer

PINNACLE INVESTMENT

QUANTITY P	RICE	CONSIDERATION
47 1,278 1,175	4.1650 4.1600 4.1500	\$195.76 \$5,316.48 \$4,876.25

CONFIRM	ATION COMMENTS	
Order	Complete Order	
Comments	attan era tominetar jenka seretteka za errette artes traggetti etami	FERRERA KANTANTAN KANTANTAN SALA
Condition	and desired and stack of the desired to the second stack and second stack.	Bound - To distant the 2 supple gives a
Crossed	$r \in \mathcal{E}(\mathcal{T}_{mod}(\mathcal{T}, \mathcal{T}, \mathcal{T}_{mod}, \mathcal{T}_{mo$	and the second and an experience of the

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

\$10,388.49	4.1554	2,500
\$18.00	Brokerage	
\$2.20	Misc Fees & Charges	
\$0.00	Application Money	
\$2.02	Total GST Payable	
\$10,366.27	Net Proceeds: (AUD)	

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS

Account No.

6571665

Confirmation No.

10427881

Transaction Date

15/06/2020

As at Date

Settlement Date

17/06/2020

Financial Product

QAN

ORDINARY FULLY PAID

suer

QANTAS AIRWAYS

QUANTITY	PRICE		CONSIDERATION
2,30	0	4.5800	\$10,534.00
		randani november i november	
2,300)	4.5800	\$10,534.00
			4105.24
		Brokerage	\$105.34
	Misc Fees	& Charges	\$2.20

CONFIRM	MATION COMMENTS
Order	Complete Order
Comments	

omments

Condition

Crossed

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

BASIS OF MOVEMENT

Net Proceeds: (AUD)

Application Money

Total GST Payable

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.

\$0.00

\$10.75

\$10,415.71





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS

10130715

Account No. 6571665

Transaction Date 27/05/2020

As at Date

Confirmation No.

Settlement Date 29/05/2020

Financial Product

QAN

ORDINARY FULLY PAID

lasuer

QANTAS AIRWAYS

QUANTITY PRI	CE (CONSIDERATION
1,850	4.1600	\$7,696.00

CONFIRM	ATION COMMENTS	
Order	Complete Order	
Comments	and the second and an experience of the second and	
Condition	The control of the second of the control of the second is a second of the second of the second of the second of	e de la como de la como de la composição de la como de l
Crossed		

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

1,850	4.1600	\$7,696.00
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$7,583.58

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	9539017		
Transaction Date	09/04/2020		
As at Date			
Settlement Date	15/04/2020		

Financial Product

SXY

ORDINARY FULLY PAID

Issuer

SENEX ENERGY LIMITED

QUANTIT	Y	PRICE		CONSIDERATION
	67,831		0.1725	\$11,700.85
	,			
50 FE .	2.5		o by Marchen	() ()
	67,831		0.1725	\$11,700.85

CONFIRMATION COMMENTS			
Order	Complete Order		
Comments	PA*		
Condition	TO THE WHITE THE PROPERTY OF T		
Crossed			

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

Brokerage \$100.00

Misc Fees & Charges \$2.20

Application Money \$0.00

Total GST Payable \$10.22

Net Proceeds: (AUD)

\$11,588.43

BASIS OF MOVEMENT



Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRM	MATION DETAILS	
Account No.	6571665	
Confirmation No.	9400211	
Transaction Date	31/03/2020	
As at Date		
Settlement Date	02/04/2020	

Financial Product

RPT

ORDINARY FULLY PAID

Issue

BEACH ENERGY LIMITED

Total GST Payable

Net Proceeds: (AUD)

QUANTITY PF	RICE	CONSIDERATION	CONFIRMATION COMMENTS
9,153	1.2100	\$11,075.13	Order Complete Order
			Comments
			tense and in the enterpresent and the second and the enterpresent and t
			Crossed
			REGISTRATION DETAILS
			MR FRANCIS JOHN MIRAMS MRS STEPHANIE VERA MIRAMS
			<pre><mirams a="" c="" fund="" noms="" super=""> 2 ERITH LANE</mirams></pre>
			KALORAMA VIC 3766
9,153	1.2100	\$11,075.13	
	Brokerage	\$100.00	BASIS OF MOVEMENT
Misc	Fees & Charges	\$2.20	
An	polication Money	\$0.00	

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.

\$10.22

\$10,962.71



Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C > 2 Erith Lane KALORAMA VIC AUSTRALIA 3766

SELL CONFIRMATION DETAILS				
Account No.	6571665			
Confirmation No.	9146253			
Transaction Date	13/03/2020			
As at Date				
Settlement Date	17/03/2020			

Financial Product

OSH

10 TOEA ORDINARY FULLY PAID

suer

OIL SEARCH LTD

QUAN	тіту	PRICE		CONSIDERATION
	3,000		3.4800	\$10,440.00
	3,000		3.4800	\$10,440.00
		-	Brokerage	\$100.00

CONFIRM	ATION COMMENTS
Order	Complete Order
Comments	and the second s
Condition	
Crossed	* Label de la moder sier de l'obre de deut primitéra composé de basés éches sobre de la mode de de la mode de

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

000	3.4800	\$10,440.00
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$10,327.58

В	A	SI	S	0	F	M	O/	旧	VI:	TNE	



REPRINT

Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >
2 Erith Lane
KALORAMA VIC

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	9076874		
Transaction Date	10/03/2020		
As at Date			
Settlement Date	12/03/2020		

Financial Product

BHP

AUSTRALIA 3766

ORDINARY FULLY PAID

CLION

BHP GROUP LIMITED

	The state of the s	가 그는 번 생활하는 것은	
QUANTITY	PF	RICE	CONSIDERATION
	582	28.7900	\$16,755.78
	582	28.7900	\$16,755.78
		Brokerage	\$100.00
	Misc	Fees & Charges	\$2.20

Net Proceeds: (AUD)

CONFIRMATION COMMENTS			
Order	Complete Order		
Comments			
Condition	AND STATE OF THE S		
Crossed	ления при		
and the same of th			

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

20.7900	\$10,733.70
Brokerage	\$100.00
Misc Fees & Charges	\$2.20
Application Money	\$0.00
Total GST Payable	\$10.22
	to the transfer of the transfer of

BASIS OF MOVEMENT

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.

\$16,643.36





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	9004230		
Transaction Date	05/03/2020		
As at Date			
Settlement Date	09/03/2020		

Financial Product

BHP

ORDINARY FULLY PAID

suer

BHP GROUP LIMITED

QUANTITY		PRICE	CONSIDERATION
	480	33.9100	\$16,276.80

CONFIRMA	TION COMMENTS
Order	Complete Order
Comments	nativat elektristensia ir zeinen hitratistinis opinikoli kinistinistinistinistinistinistinistinis
Condition	esandine antinen al mes i en in milen es antines assentines assente se de advestation antines de destatates à destatates à est de se de la su
Crossed	The Market Transaction involved a Crossing

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

480	33.9100	\$16,276.80
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$16,164.38

BASIS OF MOVEMENT			
EX DIVIDEND	El arte i arte francia di arte della castalia.	Automorphism of the second	



Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS		
Account No.	6571665	
Confirmation No.	8835429	
Transaction Date	19/02/2020	
As at Date		
Settlement Date	21/02/2020	

Financial Product

TWE

ORDINARY FULLY PAID

suer

TREASURY WINE ESTATE

	1,360		11.8350		\$16,095.60	
-					4	
			, .			
	1,500		11.0550		\$10,095.60	
	1,360		11.8350		\$16,095.60	nous.
QUANTITY		PRICE		CON	SIDERATION	

CONFIRMA	TION COMMENTS
Order	Complete Order
Comments	
Condition	nacurant south on encoded to state table controlled an object of controlled controlled controlled and controlled controll
Crossed	in Committee and

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

)	11.8350	\$16,095.60
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$15 983 18

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >2 Erith Lane KALORAMA VIC **AUSTRALIA 3766**

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	8802614		
Transaction Date	14/02/2020		
As at Date			
Settlement Date	18/02/2020		

Financial Product

ORDINARY FULLY PAID

'suer

EVOLUTION MINING LTD

QUANT	ITY	PRICE		CON	SIDERATION	
	3,734		4.1800		\$15,608.	12
	· · · · · · · · · · · · · · · · · · ·					
	3,734		4.1800		\$15,608.1	12

12	Order	Complete
	Comments	AR A SOCIALIST MANAGER
	Condition	
	Crossed	Control of the Contro
	REGISTRATIO	ON DETAILS
	MR FRANCIS	JOHN MIR

MR FRANCIS JOHN MIRAMS MRS STEPHANIE VERA MIRAMS <mirams 2="" 3766<="" a="" c="" erith="" fund="" kalorama="" lane="" noms="" super="" th="" vic=""><th>></th></mirams>	>
BASIS OF MOVEMENT	

CONFIRMATION COMMENTS

Complete Order

\$100.00 Brokerage Misc Fees & Charges \$2.20 Application Money \$0.00 Total GST Payable \$10.22 Net Proceeds: (AUD) \$15,495.70





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	8352558		
Transaction Date	27/11/2019		
As at Date			
Settlement Date	29/11/2019		

Financial Product

DXS

FULLY PAID UNITS STAPLED SECURITIES

suer

DEXUS

QUANTITY	PRICE	CONSIDERATION
1,230	12.2500	\$15,067.50
* *		
1,230	12.2500	\$15,067.50

CONFIRMATION COMMENTS		
Order	Complete Order	
Comments		
Condition		
Crossed		

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

O	12.2500	\$15,067.50
	Brokerage	\$100.00
i	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$14,955.08

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C > 2 Erith Lane KALORAMA VIC AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	8256640		
Transaction Date	11/11/2019		
As at Date			
Settlement Date	13/11/2019		

Financial Product

QUANTITY

ICE

PRICE

ORDINARY FULLY PAID

CONSIDERATION

suer

L1 LONG SHORT FUND

	8,800	1.6550	\$14,564.00
		•	
)	8,800	1.6550	\$14,564.00

CONFIRMATION COMMENTS		
Order	Complete Order	
Comments	in a state of a second a small of a Manach Andrews And	
Condition		
Crossed		

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

0	1.6550	\$14,564.00
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$14,451.58

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	7867267		
Transaction Date	09/09/2019		
As at Date			
Settlement Date	11/09/2019		

Financial Product

ASI

ORDINARY FULLY PAID

loculo

AUSDRILL LIMITED

Total GST Payable

Net Proceeds: (AUD)

QUA	INTITY	PRICE	CONSIDERATION	CONFIRMATION COMMENTS
	2,961	2.2200	\$6,573.42	Order Complete Order
				Comments
				Condition
				Crossed
				REGISTRATION DETAILS
				MR FRANCIS JOHN MIRAMS MRS STEPHANIE VERA MIRAMS <mirams a="" c="" fund="" noms="" super=""> 2 ERITH LANE</mirams>
-	2,961	2.2200	\$6,573.42	— KALORAMA VIC 3766
		Brokerage	\$75.00	BASIS OF MOVEMENT
		Misc Fees & Charges	\$2.20	Programme Transfer Tr
		Application Money	\$0.00	

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.

\$7.72

\$6,488.50





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	7543098		
Transaction Date	25/07/2019		
As at Date			
Settlement Date	29/07/2019		

Financial Product

CAR

ORDINARY FULLY PAID

uer

CARSALES.COM LTD.

QUANTITY	PRICE		CONSIDERATION
	7	14.6550	\$102.58
8	04	14.6500	\$11,778.60

CONFIRMA	TION COMMENTS	
Order	Complete Order	
Comments	5	
Condition	ji sa	
Crossed		

REGISTRATION DETAILS

MR FRANCIS JOHN MIRAMS
MRS STEPHANIE VERA MIRAMS
<MIRAMS NOMS SUPER FUND A/C>
2 ERITH LANE
KALORAMA VIC 3766

811	14.6500	\$11,881.19
	Brokerage	\$100.00
	Misc Fees & Charges	\$2.20
	Application Money	\$0.00
	Total GST Payable	\$10.22
	Net Proceeds: (AUD)	\$11,768.77

BASIS OF MOVEMENT





Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE ERA MIRAMS < MIRAMS NOMS SUPER FUND A/C > 2 Erith Lane KALORAMA VIC **AUSTRALIA 3766**

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	7489298		
Transaction Date	17/07/2019		
As at Date			
Settlement Date	19/07/2019		

Financial Product

BSL

ORDINARY FULLY PAID

Issuer

BLUESCOPE STEEL LTD

	Maria I Table		
QUANTITY	PRICE	CONSIDERATION	CONFIRMATION COMMENTS
311 605	12.4900	\$3,884.39 \$7,550.40	Order Complete Order Comments Condition Crossed REGISTRATION DETAILS MR FRANCIS JOHN MIRAMS MRS STEPHANIE VERA MIRAMS <mirams a="" c="" fund="" noms="" super=""> 2 ERITH LANE</mirams>
916	12.4834	\$11,434.79	KALORAMA VIC 3766
	Brokerage	\$100.00	BASIS OF MOVEMENT
	Misc Fees & Charges	\$2.20	
	Application Money	\$0.00	
	Total GST Payable	\$10.22	
	Net Proceeds: (AUD)	\$11,322.37	

This confirmation issued is subject to our terms and conditions and any terms and conditions set out on reverse.



Mailing Address:

MR FRANCIS JOHN MIRAMS + MRS STEPHANIE V
ERA MIRAMS < MIRAMS NOMS SUPER FUND
A/C >
2 Erith Lane
KALORAMA VIC
AUSTRALIA 3766

SELL CONFIRMATION DETAILS			
Account No.	6571665		
Confirmation No.	7408867		
Transaction Date	04/07/2019		
As at Date			
Settlement Date	08/07/2019		

Financial Product

SUN

ORDINARY FULLY PAID

uer

SUNCORP GROUP LTD

QUANTIT	Υ	PRICE	CONSIDERATION	CONFIRMATION COMMENTS
	819	13.4900	\$11,048.31	Order Complete Order
				Comments
				Condition
				Crossed
				REGISTRATION DETAILS
				MR FRANCIS JOHN MIRAMS
				MRS STEPHANIE VERA MIRAMS
				<pre><mirams a="" c="" fund="" noms="" super=""> 2 ERITH LANE</mirams></pre>
	-			KALORAMA VIC 3766
	819	13.4900	\$11,048.31	
		Brokerage	\$100.00	BASIS OF MOVEMENT
		Misc Fees & Charges	\$2.20	
		Application Money	\$0.00	
		Total GST Payable	\$10.22	
		Net Proceeds: (AUD)	\$10 <i>.</i> 935.89	